Every city has seventy and two thirds mx outside its border
before the two thousand mnx are measured.

If there are two cities next to each other at a distance of less than
one hundred and forty one and a third mny, they are considered

as one city for the purpose of a onn, as each city has seventy
and two thirds mny, and the distance between the two citiesis
less than their combined areas that extend outside the city.

If there are two villages next to each other, and a third placed
above, like atriangle: if there are less than two thousand nyx
between the third village and the two next to each other, and the
two next to each other are lessthan two hundred and eighty two
and athird nwx away from each other, the third villageis
considered as it is between the two villages and all three are like
one city, and the two thousand mnx are counted from the
outermost edges of the three cities combined.

The oynn of acity is measured with a rope made of ynws that is
fifty mmnx long. The rope isheld against his heart, and he pulls
hard (to make the ropetaut). If he reachesahill or valley, itis
considered as a straight horizontal line and the incline or
depression are not counted, provided the incline or depressionis
not fifty mmnx.
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